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a” x-morph=”OSHM:HR/Ncmpc” ”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|��������� a” x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1.0”
”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”4557|���������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”3117|������
x-morph=”OSHM:HNcmpc” strong=”2416|����/������ e” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� 4 ”strong=”1431|�������������� x-morph=”OSHM:HVhp1cs”
x-cantillationLevel=”1.0” ”strong=”4639|�/�������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1” ”strong=”1129|���������� x-morph=”OSHM:HVqp1cs”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.0”
strong=”1004|��������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”5193|����������� x-morph=”OSHM:HVqp1cs” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0” ”strong=”3754|����������
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”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”3820 a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”0.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/����|strong=”d/5999” x-morph=”OSHM:HTd/Ncbsa”
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x-cantillationLevel=”0.1” ”strong=”s/5998|�����������/��� x-morph=”OSHM:HTr/Vqp1cs”
x-cantillationLevel=”0.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
21 strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”3426”
x-morph=”OSHM:HTm” ”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.1” ”strong=”s/5999|��/������/��� x-morph=”OSHM:HTr/Ncbsc/Sp3ms”
x-cantillationLevel=”1.0.0” ”strong=”b/2451|��������/��� x-morph=”OSHM:HR/Ncfsa”
”strong=”c/b/1847|������/��/�� x-morph=”OSHM:HC/R/Ncfsa” x-cantillationLevel=”1.0”
”strong=”c/b/3788|����������/��/�� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/l/120|������/��/�� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”s/3808|�����/��� x-morph=”OSHM:HTr/Tn”
”strong=”5998|������ x-morph=”OSHM:HVqp3ms”���/���|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”5414|����/��������
x-morph=”OSHM:HVqi3ms/Sp3ms” strong=”2506|��/������ a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”1892|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”c/7451|������/�� c” x-morph=”OSHM:HC/Ncfsa”
strong=”7227|������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0”�
22 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0.0”
”strong=”4100|���� x-morph=”OSHM:HTi”�������|strong=”1933 b” x-
morph=”OSHM:HVqrmsa” ”strong=”l/120|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��/�������|strong=”5999”
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/b/7475|���������/��/��
x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”1.0” strong=”3820|�/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” 1Marks a place
where we agree with BHQ against BHS in reading L. 2 3 ”strong=”s/1931|�����/���
x-morph=”OSHM:HTr/Pp3ms” strong=”6001|������ b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
23 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3605|��� x-
morph=”OSHM:HNcmsc”�/�������|strong=”3117” x-morph=”OSHM:HNcmpc/Sp3ms”
”strong=”4341|����������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1”
strong=”c/3708|�������/�� a” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”6045|��/�������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”1571|���� x-morph=”OSHM:HTa”���������/����|strong=”b/3915”
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”7901” x-morph=”OSHM:HVqp3ms”
strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”2088” x-morph=”OSHM:HPdxms”
x-cantillationLevel=”0.0” ”strong=”1892|������ x-morph=”OSHM:HNcmsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”�
24 ”strong=”369|����� x-morph=”OSHM:HTn”������|strong=”2896 a”

1Q
2n Marks an anomalous form.
3v We read one or more vowels in L differently from BHS.
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x-morph=”OSHM:HAamsa” ”strong=”b/120|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”s/398|��������/��� x-morph=”OSHM:HTr/Vqi3ms”
”strong=”c/8354|�������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.1”
”strong=”c/7200|��������/�� x-morph=”OSHM:HC/Vhq3ms” ”strong=”853|���
x-morph=”OSHM:HTo”��/��������|strong=”5315” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1.0.0” strong=”2896|����� b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.0” ”strong=”b/5999|��/������/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”2090”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.1.0” ”strong=”7200|���������
x-morph=”OSHM:HVqp1cs” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”m/3027|�����/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0”�
25 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4310|���� x-
morph=”OSHM:HTi” ”strong=”398|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0.0” ”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti”
strong=”2363|�������� b” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0”
”strong=”2351|����� x-morph=”OSHM:HNcmsa” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 26 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”l/120|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1.0” strong=”s/2896|������/��� a” x-morph=”OSHM:HTr/Aamsa”
”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”5414|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0”
”strong=”2451|�������� x-morph=”OSHM:HNcfsa” ”strong=”c/1847|������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.0” ”strong=”c/8057|���������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1” ”strong=”c/l/2398|�������/��/��
x-morph=”OSHM:HC/Rd/Vqrmsa” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”6045|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.2.0”
”strong=”l/622|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”c/l/3664|�������/��/��
x-morph=”OSHM:HC/R/Vqc” x-cantillationLevel=”0.1.2” ”strong=”l/5414|����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.1” strong=”l/2896|�����/��
a” x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”0.1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”d/430|���������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.1” ”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”1892|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/7469|�������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”7307|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�

3 ”strong=”l/3605|�����/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”2165|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa” ”strong=”l/3605|���/��

x-morph=”OSHM:HR/Ncmsc”�������|strong=”2656” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
� 2 ”strong=”6256|���� x-morph=”OSHM:HNcbsa” ”strong=”l/3205|������/��
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x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”c/6256|����/��
x-morph=”OSHM:HC/Ncbsa” ”strong=”l/4191|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”6256|���� x-morph=”OSHM:HNcbsa” ”strong=”l/5193|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1” ”strong=”c/6256|����/��
x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.0” strong=”l/6131|�������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”5193|�������� x-morph=”OSHM:HVqsmsa”
x-cantillationLevel=”0”� 3 ”strong=”6256|���� x-morph=”OSHM:HNcbsa”
”strong=”l/2026|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0”
”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa” ”strong=”l/7495|��������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1” ”strong=”6256|����
x-morph=”OSHM:HNcbsa” ”strong=”l/6555|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa”
”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
4 ”strong=”6256|���� x-morph=”OSHM:HNcbsa” ”strong=”l/1058|��������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0” ”strong=”c/6256|����/��
x-morph=”OSHM:HC/Ncbsa” ”strong=”l/7832|��������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”6256|���� x-morph=”OSHM:HNcbsc”
”strong=”5594|������� x-morph=”OSHM:HVqc” x-cantillationLevel=”0.0”
”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsc” ”strong=”7540|�������
x-morph=”OSHM:HVqc” x-cantillationLevel=”0”� 5 ”strong=”6256|����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1.0” ”strong=”l/7993|�����������/��
x-morph=”OSHM:HR/Vhc” ”strong=”68|��������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.1” ”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsc”
x-cantillationLevel=”1.0” ”strong=”3664|�������� x-morph=”OSHM:HVqc”
”strong=”68|��������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1”
”strong=”6256|���� x-morph=”OSHM:HNcbsa” ”strong=”l/2263|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1” ”strong=”c/6256|����/��
x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.0” ”strong=”l/7368|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”m/2263|�������/�� x-morph=”OSHM:HR/Vpc”
x-cantillationLevel=”0”� 6 ”strong=”6256|���� x-morph=”OSHM:HNcbsa”
”strong=”l/1245|��������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.1.0”
”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa” ”strong=”l/6|�������/��
x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.1” ”strong=”6256|����
x-morph=”OSHM:HNcbsa” ”strong=”l/8104|��������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa”
”strong=”l/7993|�����������/�� x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0”�
7 ”strong=”6256|���� x-morph=”OSHM:HNcbsa” ”strong=”l/7167|���������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0” ”strong=”c/6256|����/��
x-morph=”OSHM:HC/Ncbsa” ”strong=”l/8609|��������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”6256|���� x-morph=”OSHM:HNcbsa”
”strong=”l/2814|��������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0”
”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa” ”strong=”l/1696|�������/��
x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0”� 8 ”strong=”6256|����
x-morph=”OSHM:HNcbsa” ”strong=”l/157|������/��� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1.0” ”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa”
”strong=”l/8130|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1”
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”strong=”6256|���� x-morph=”OSHM:HNcbsc” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”c/6256|����/��
x-morph=”OSHM:HC/Ncbsc” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 9 ”strong=”4100|��� x-morph=”OSHM:HTi”�����������|strong=”3504”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0” strong=”d/6213|��������/���
a” x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.1” strong=”b/834|�������/���
b” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” strong=”6001|������ b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 10 ”strong=”7200|��������� x-morph=”OSHM:HVqp1cs”
”strong=”853|��� x-morph=”OSHM:HTo”��������/����|strong=”d/6045”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0.0”
strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”d/120|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” strong=”l/6031|�������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 11 ”strong=”853|��� x-morph=”OSHM:HTo”�����/���|strong=”d/3605”
x-morph=”OSHM:HTd/Ncmsa” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”3303|������ x-morph=”OSHM:HAamsa”
”strong=”b/6256|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1”
”strong=”1571|����� x-morph=”OSHM:HTa” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/5769”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” strong=”b/3820|�/������/��� a” x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”m/1097|�������/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”4672” x-
morph=”OSHM:HVqi3ms” ”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.1” ”strong=”853|��� x-morph=”OSHM:HTo”����������/����|strong=”d/4639”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”6213 a” x-morph=”OSHM:HVqp3ms”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0”
strong=”m/7218|������/�� a” x-morph=”OSHM:HR/Ncmsa” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”������|strong=”5490” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 12 ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.0.0” ”strong=”369|����� x-morph=”OSHM:HTn” strong=”2896|�����
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” ”strong=”b|�/����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”���������/���|strong=”l/8055”
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1” strong=”c/l/6213|��������/��/��
a” x-morph=”OSHM:HC/R/Vqc” strong=”2896|����� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” strong=”b/2416|�/�������/��� e” x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”0”� 13 ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/120”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”s/398|��������/���
x-morph=”OSHM:HTr/Vqi3ms” ”strong=”c/8354|�������/�� x-morph=”OSHM:HC/Vqq3ms”
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x-cantillationLevel=”1.1” ”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqq3ms”
strong=”2896|����� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��/�������|strong=”5999”
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1” ”strong=”4991|�������
x-morph=”OSHM:HNcfsc” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0”� 14 ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.2.2” strong=”3588|����� a” x-morph=”OSHM:HC”
x-cantillationLevel=”1.2.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsa”��������|strong=”834
a” x-morph=”OSHM:HTr” strong=”6213|��������� a” x-morph=”OSHM:HVqi3ms”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.2.0”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2” strong=”5921|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”l/3254|��������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.1” strong=”c/4480|����/������/�� a” x-morph=”OSHM:HC/R/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”l/1639|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”c/d/430|���������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1” ”strong=”s/3372|����������/��� x-morph=”OSHM:HTr/Vqi3mp”
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4+ strong=”5869|��/������/���� a” x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”1.0”
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strong=”3588|����� a” x-morph=”OSHM:HC”������/���|strong=”m/1004
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/631|��������/�� x-morph=”OSHM:HTd/Vqsmpa”
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”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
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”strong=”d/3206|�������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/8145|��������/��
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a” x-morph=”OSHM:HTr” ”strong=”5975|�������� x-morph=”OSHM:HVqi3ms”
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x-morph=”OSHM:HC/Ncmsc” ”strong=”7307|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 17 5 KJV:Eccl.5.1 ”strong=”8104|������� x-
morph=”OSHM:HVqv2ms” ”strong=”7272|�/���� x-morph=”OSHM:HNcfdc/Sp2ms”
x-wType=”x-ketiv” 6 strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”3212|�������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2”
”strong=”c/7138|�������/�� x-morph=”OSHM:HC/Vqa” ”strong=”l/8085|��������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1” ”strong=”m/5414|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”d/3684|�����������/�� x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”1.0” ”strong=”2077|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”�/�������|strong=”369”
x-morph=”OSHM:HTn/Sp3mp” ”strong=”3045|���������� x-morph=”OSHM:HVqrmpa”

5+
6+ ”strong=”7272|���/�������/���� x-morph=”OSHM:HNcfsc/Sp2ms” x-

cantillationLevel=”1.2.1”
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strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1” strong=”5921|����
a” x-morph=”OSHM:HR”������|strong=”3651 c” x-morph=”OSHM:HTm”
x-cantillationLevel=”0.0.0” 8 ”strong=”1961|�������� x-morph=”OSHM:HVqj3mp”
”strong=”1697|��/�������� x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.0”
”strong=”4592|���������� x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
2 9 KJV:Eccl.5.3 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0.0”
”strong=”935|����� x-morph=”OSHM:HVqp3ms” ”strong=”d/2472|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”b/7230|����/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”6045|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/6963|�����/�� a” x-morph=”OSHM:HC/Ncmsc”
”strong=”3684|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”b/7230|����/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”1697|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”� 3 10 KJV:Eccl.5.4 strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”5087|�������� x-morph=”OSHM:HVqi2ms”
”strong=”5088|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.1.0”
”strong=”l/430|��������/��� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.1.1”
”strong=”408|��� x-morph=”OSHM:HTn”����������|strong=”309” x-
morph=”OSHM:HVpj2ms” x-cantillationLevel=”1.1.0” strong=”l/7999|��/��������/��
a” x-morph=”OSHM:HR/Vpc/Sp3ms” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”2656|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”b/3684|�����������/��� x-morph=”OSHM:HRd/Aampa”
x-cantillationLevel=”1” ”strong=”853|���� x-morph=”OSHM:HTo” strong=”834|������
a” x-morph=”OSHM:HTr”���������|strong=”5087” x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0.0” strong=”7999|�������� a” x-morph=”OSHM:HVpv2ms”
x-cantillationLevel=”0”� 4 11 KJV:Eccl.5.5 strong=”2896|����� a” x-morph=”OSHM:HAamsa”
7+
8C We read one or more accents in L differently from BHQ.
9+
10+
11+
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”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”5087” x-
morph=”OSHM:HVqi2ms” x-cantillationLevel=”1” ”strong=”m/s/5087|���������/���/��
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x-morph=”OSHM:HC/Tn” strong=”7999|���������� a” x-morph=”OSHM:HVpi2ms”
x-cantillationLevel=”0”� 5 15 KJV:Eccl.5.6 ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”5414”
x-morph=”OSHM:HVqj2ms” ”strong=”853|��� x-morph=”OSHM:HTo”���/������|strong=”6310”
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x-morph=”OSHM:HR/Vhc” ”strong=”853|��� x-morph=”OSHM:HTo”��/����������|strong=”1320”
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x-morph=”OSHM:HC/Tn”���������|strong=”559” x-morph=”OSHM:HVqj2ms”
x-cantillationLevel=”1.1.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4397|����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7684|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”1” ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” ”strong=”7107|�������� x-morph=”OSHM:HVqi3ms”
”strong=”d/430|���������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/�������|strong=”6963 a”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.1” strong=”c/2254|�������/��
b” x-morph=”OSHM:HC/Vpq3ms” x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”4639” x-morph=”OSHM:HNcmsc”
”strong=”3027|��/������ x-morph=”OSHM:HNcbdc/Sp2ms” x-cantillationLevel=”0”�
6 16 KJV:Eccl.5.7 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”b/7230|����/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”2472|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1.0” ”strong=”c/1892|���������/�� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”c/1697|���������/�� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”1.0” strong=”7235|��������� a” x-morph=”OSHM:HVha”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”853|���
x-morph=”OSHM:HTo”���������/���|strong=”d/430” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”3372|������ x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0”� 7 17 KJV:Eccl.5.8 strong=”518|��� a” x-morph=”OSHM:HC”��������|strong=”6233”
x-morph=”OSHM:HNcmsc” ”strong=”7326|����� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.1.0.0” ”strong=”c/1499|������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa” ”strong=”c/6664|�������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”7200|���������
x-morph=”OSHM:HVqi2ms” ”strong=”b/4082|����������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”8539”
x-morph=”OSHM:HVqj2ms” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”������/���|strong=”d/2656” x-morph=”OSHM:HTd/Ncmsa”
12Q Marks a place where we agree with BHQ against BHS in reading L.
13n Marks an anomalous form.
14p We read punctuation in L differently from BHS.
15+
16+
17+
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a” x-morph=”OSHM:HR/R” ”strong=”1364|��������� x-morph=”OSHM:HAamsa”
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morph=”OSHM:HTa”�����|strong=”2088” x-morph=”OSHM:HPdxms” x-
cantillationLevel=”0.0” ”strong=”1892|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 10 24 KJV:Eccl.5.11 strong=”b/7235|�������/���
a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.0” strong=”d/2896|��������/��
c” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.1” strong=”7235|�������
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”398|��/���������
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x-cantillationLevel=”0.1” strong=”3588|����� b” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0” strong=”518|��� b” x-morph=”OSHM:HC”�����|strong=”7212”
x-morph=”OSHM:HNcmsc” x-wType=”x-ketiv” 25 strong=”5869|�/�������
a” x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”0”� 11 26 KJV:Eccl.5.12
”strong=”4966|��������� x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1.0”
”strong=”8142|������� x-morph=”OSHM:HNcfsc” ”strong=”d/5647|������/��
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.1” strong=”518|���
a” x-morph=”OSHM:HC”�������|strong=”4592” x-morph=”OSHM:HNcmsa”
strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”����������|strong=”7235
18Q Marks a place where we agree with BHQ against BHS in reading L.
19n Marks an anomalous form.
20p We read punctuation in L differently from BHS.
21+
22+ ”strong=”1931|�������� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1”
23+
24+
25+ ”strong=”7207|����������� x-morph=”OSHM:HNcfsc”
26+
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a” x-morph=”OSHM:HVha” x-cantillationLevel=”1.0” ”strong=”398|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1” ”strong=”c/d/7647|��������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”l/6223|��������/���
x-morph=”OSHM:HRd/Aamsa” x-cantillationLevel=”0.1” ”strong=”369|����/������
x-morph=”OSHM:HTn/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”3240|����������
x-morph=”OSHM:HVhrmsa” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/3462|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 12 27 KJV:Eccl.5.13 ”strong=”3426|����� x-morph=”OSHM:HTm”
x-cantillationLevel=”1.1.0” strong=”7451|������ c” x-morph=”OSHM:HNcfsa”
strong=”2470|������� a” x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.1”
”strong=”7200|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”d/8121|���������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”6239|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”8104|��������
x-morph=”OSHM:HVqsmsa” ”strong=”l/1167|�/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”0.0” strong=”l/7451|��/������/�� c” x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 13 28 KJV:Eccl.5.14 ”strong=”c/6|������/�� x-
morph=”OSHM:HC/Vqp3ms” x-cantillationLevel=”1.0.0” ”strong=”d/6239|�������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”1.0” ”strong=”b/6045|��������/��� x-morph=”OSHM:HR/Ncmsa”
strong=”7451|���� a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”c/3205|��������/�� x-morph=”OSHM:HC/Vhp3ms” strong=”1121|�����
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3972|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 14 29 KJV:Eccl.5.15 strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”3318|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0” ”strong=”m/990|�������/�� x-morph=”OSHM:HR/Ncfsc”
”strong=”517|��/����� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”6174|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0.0”
”strong=”7725|�������� x-morph=”OSHM:HVqi3ms” ”strong=”l/3212|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”k/s/935|�����/���/���
x-morph=”OSHM:HR/Tr/Vqp3ms” x-cantillationLevel=”1” ”strong=”c/3972|����������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”5375” x-morph=”OSHM:HVqi3ms”
”strong=”b/5999|��/������/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-
cantillationLevel=”0.1” ”strong=”s/3212|��������/��� x-morph=”OSHM:HTr/Vhi3ms”
x-cantillationLevel=”0.0” ”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”0”� 15 30 KJV:Eccl.5.16 ”strong=”c/1571|���/�� x-
morph=”OSHM:HC/Ta”�����|strong=”2090” x-morph=”OSHM:HPdxms”
x-cantillationLevel=”1.1.0” strong=”7451|������ c” x-morph=”OSHM:HNcfsa”
strong=”2470|������� a” x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.1”
27+
28+
29+
30+
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”strong=”k/3605|�/��� x-morph=”OSHM:HR/R”��������|strong=”5980”
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”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/�������|strong=”3117”
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”b/2822|��������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”398|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” ”strong=”c/3707|������/�� x-morph=”OSHM:HC/Vqq3ms”
strong=”7235|��������� a” x-morph=”OSHM:HVha” x-cantillationLevel=”0.0”
”strong=”c/2483|��/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms” strong=”c/7110|������/��
a” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”� 17 32 KJV:Eccl.5.18
”strong=”2009|������� x-morph=”OSHM:HTm” x-cantillationLevel=”0.0.2.0”
strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”7200”
x-morph=”OSHM:HVqp1cs” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0.0.2” strong=”2896|����� a” x-morph=”OSHM:HAamsa”
strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”3303”
x-morph=”OSHM:HAamsa” ”strong=”l/398|������/��� x-morph=”OSHM:HR/Vqc”��������/��/����|strong=”c/l/8354”
x-morph=”OSHM:HC/R/Vqc” x-cantillationLevel=”0.0.1.2” ”strong=”c/l/7200|�������/��/��
x-morph=”OSHM:HC/R/Vqc” strong=”2896|������� c” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0.0.1.1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��/�������|strong=”5999”
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.0.1.0” � ”strong=”s/5998|���������/���
x-morph=”OSHM:HTr/Vqi3ms” ”strong=”8478|������� x-morph=”OSHM:HR”���������/���|strong=”d/8121”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0.1” ”strong=”4557|���������
x-morph=”OSHM:HNcmsc” ”strong=”3117|����� x-morph=”OSHM:HNcmpc”�/���|strong=”2416
e” x-morph=”OSHM:HNcmpc/Sp3ms” x-wType=”x-ketiv” 33 34 35 strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”5414” x-morph=”OSHM:HVqp3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”1931”
x-morph=”OSHM:HPp3ms” strong=”2506|��/������ a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 18 36 KJV:Eccl.5.19 ”strong=”1571|����� x-morph=”OSHM:HTa”
”strong=”3605|����� x-morph=”OSHM:HNcmsc”������/���|strong=”d/120”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”��/���|strong=”l”

31+
32+
33+ strong=”2416|�/��������/�� e” x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”0.0.0”
34Q Marks a place where we agree with BHQ against BHS in reading L.
35q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
36+
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x-morph=”OSHM:HR/Sp3ms” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”6239|������� x-morph=”OSHM:HNcmsa” ”strong=”c/5233|���������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1.1.0.0” ”strong=”c/7980|��/����������/��
x-morph=”OSHM:HC/Vhp3ms/Sp3ms” ”strong=”l/398|������/�� x-morph=”OSHM:HR/Vqc”
strong=”4480|�����/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.1.0”
”strong=”c/l/5375|������/��/�� x-morph=”OSHM:HC/R/Vqc” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������|strong=”2506 a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/l/8055|��������/��/�� x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”1.0” ”strong=”b/5999|��/������/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”2090|���� x-morph=”OSHM:HPdxms” x-
cantillationLevel=”0.1” ”strong=”4991|������� x-morph=”OSHM:HNcfsc”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0”�
19 37 KJV:Eccl.5.20 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”7235|���������
a” x-morph=”OSHM:HVha” x-cantillationLevel=”1.1” ”strong=”2142|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”�������|strong=”3117” x-morph=”OSHM:HNcmpc”
strong=”2416|�/������� e” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0.0” strong=”6031|��������
a” x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”0.0” ”strong=”b/8057|���������/���
x-morph=”OSHM:HR/Ncfsc” strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”�6 ”strong=”3426|����� x-morph=”OSHM:HTm” strong=”7451|������

c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7200|��������� x-morph=”OSHM:HVqp1cs”

x-cantillationLevel=”1.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
strong=”c/7227|�������/�� a” x-morph=”OSHM:HC/Aafsa” ”strong=”1931|�����
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0.0” strong=”5921|��� a”
x-morph=”OSHM:HR”������/���|strong=”d/120” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 2 ”strong=”376|������ x-morph=”OSHM:HNcmsa”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5414|������
x-morph=”OSHM:HVqi3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1.2”
”strong=”6239|������� x-morph=”OSHM:HNcmsa” ”strong=”c/5233|���������/��
x-morph=”OSHM:HC/Ncmpa” ”strong=”c/3519|�������/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”1.1.1.1” ”strong=”c/369|����/������/��� x-morph=”OSHM:HC/Tn/Sp3ms”
”strong=”2638|������ x-morph=”OSHM:HAamsa” ”strong=”l/5315|��/�������/��
x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1.1.1.0” � ”strong=”m/3605|�����/��
x-morph=”OSHM:HR/Ncmsa” strong=”834|������ a” x-morph=”OSHM:HTr”������������|strong=”183”
x-morph=”OSHM:HVti3ms” x-cantillationLevel=”1.1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����/������������|strong=”7980” x-morph=”OSHM:HVhi3ms/Sp3ms”
37+
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”strong=”d/430|���������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0”
”strong=”l/398|������/�� x-morph=”OSHM:HR/Vqc” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”5237|�������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.0” ”strong=”398|����/��������� x-morph=”OSHM:HVqi3ms/Sp3ms”
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x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
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”strong=”c/8141|��������/�� x-morph=”OSHM:HC/Ncfpa” strong=”7227|��������
a” x-morph=”OSHM:HAafpa” ”strong=”2421|��������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.1.1.1” strong=”c/7227|����/�� a” x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”1.1.1.0” � ”strong=”s/1961|���������/��� x-morph=”OSHM:HTr/Vqi3mp”
”strong=”3117|������ x-morph=”OSHM:HNcmpc”�/��������|strong=”8141”
x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”1.1.1” ”strong=”c/5315|���/������/��
x-morph=”OSHM:HC/Ncbsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�����������|strong=”7646” x-morph=”OSHM:HVqi3fs”
strong=”4480|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/2896
c” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.1” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”����������|strong=”6900” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”1961”
x-morph=”OSHM:HVqp3fs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3ms”
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strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0”
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4 strong=”3588|����� a” x-morph=”OSHM:HC”������/���|strong=”b/1892”
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”strong=”3212|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
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cantillationLevel=”0.0” ”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”3680|��������� x-morph=”OSHM:HVPi3ms” x-cantillationLevel=”0”�
5 ”strong=”1571|���� x-morph=”OSHM:HTa”���������|strong=”8121”
x-morph=”OSHM:HNcbsa” ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”7200”
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”strong=”l/2088|����/�� x-morph=”OSHM:HR/Pdxms” x-cantillationLevel=”0.0”
”strong=”m/2088|�����/�� x-morph=”OSHM:HR/Pdxms” x-cantillationLevel=”0”�
6 ”strong=”c/432|�������/�� x-morph=”OSHM:HC/C” ”strong=”2421|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.1” ”strong=”505|������
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x-morph=”OSHM:HNcmsc”�������|strong=”5999” x-morph=”OSHM:HNcbsc”
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x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0”� 5 strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”d/2416|��������/��� a” x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”1.0.0” ”strong=”3045|���������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.0” ”strong=”s/4191|���������/��� x-morph=”OSHM:HTr/Vqi3mp”
x-cantillationLevel=”1” ”strong=”c/d/4191|��������/��/�� x-morph=”OSHM:HC/Td/Vqrmpa”
x-cantillationLevel=”0.1.1.0” ”strong=”369|�/������ x-morph=”OSHM:HTn/Sp3mp”
”strong=”3045|���������� x-morph=”OSHM:HVqrmpa” ”strong=”3972|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn”������|strong=”5750” x-morph=”OSHM:HD” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.0” ”strong=”7939|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7911|���������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.0” ”strong=”2143|�/������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 6 ”strong=”1571|����� x-morph=”OSHM:HTa”
”strong=”160|�/��������� x-morph=”OSHM:HNcfsc/Sp3mp” ”strong=”1571|����
x-morph=”OSHM:HTa”�/�����������|strong=”8135” x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”1.0.0” ”strong=”1571|���� x-morph=”OSHM:HTa”�/����������|strong=”7068”
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”3528|�������
x-morph=”OSHM:HD” ”strong=”6|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1” strong=”c/2506|������/�� a” x-morph=”OSHM:HC/Ncmsa”
”strong=”369|���� x-morph=”OSHM:HTn”����/���|strong=”l” x-morph=”OSHM:HR/Sp3mp”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1” ”strong=”b/3605|����/���
x-morph=”OSHM:HR/Ncmsa” strong=”834|������� a” x-morph=”OSHM:HTr”����������|strong=”6213
a” x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.0” ”strong=”8478|�������
x-morph=”OSHM:HR” ”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 7 ”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
”strong=”398|������ x-morph=”OSHM:HVqv2ms” ”strong=”b/8057|���������/���
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.1.0” ”strong=”3899|��/�������
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”c/8354|�������/���
x-morph=”OSHM:HC/Vqv2ms” strong=”b/3820|���/�� a” x-morph=”OSHM:HR/Ncmsc”������|strong=”2896
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” ”strong=”3196|��/������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3528|������ x-morph=”OSHM:HD” x-
cantillationLevel=”0.1” ”strong=”7521|������ x-morph=”OSHM:HVqp3ms”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0”
”strong=”853|���� x-morph=”OSHM:HTo”��/����������|strong=”4639”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0”� 8 ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”�����|strong=”6256” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”1961|�������� x-morph=”OSHM:HVqi3mp”
strong=”899|��/�������� b” x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0”
”strong=”3836|��������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1”
”strong=”c/8081|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
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strong=”5921|��� a” x-morph=”OSHM:HR”���/�������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp2ms” ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”2637”
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”0”� 9 ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” strong=”2416|�������� e” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2.1.0” strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”802”
x-morph=”OSHM:HNcfsa” strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”157”
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.2.1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”3117” x-morph=”OSHM:HNcmpc”
x-cantillationLevel=”1.2.0” strong=”2416|������� e” x-morph=”OSHM:HNcmpc”
”strong=”1892|��/������� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms”���/���|strong=”l” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”3117|������ x-morph=”OSHM:HNcmpc” ”strong=”1892|��/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
strong=”2506|���/������ a” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.2.0”
strong=”b/2416|��������/���� e” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.2”
”strong=”c/b/5999|���/�������/��/�� x-morph=”OSHM:HC/R/Ncbsc/Sp2ms”
x-cantillationLevel=”0.1” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” strong=”6001|������ b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
10 ”strong=”3605|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”4672|���������
x-morph=”OSHM:HVqi3fs” ”strong=”3027|���/����� x-morph=”OSHM:HNcbsc/Sp2ms”
x-cantillationLevel=”1.0.0” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
strong=”b/3581|���/����/��� b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.0” strong=”6213|������� a” x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”4639|��������� x-morph=”OSHM:HNcmsa”
”strong=”c/2808|�����������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.2.0”
”strong=”c/1847|������/�� x-morph=”OSHM:HC/Ncfsa” ”strong=”c/2451|��������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.2” ”strong=”b/7585|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”0.0” ”strong=”1980|������� x-morph=”OSHM:HVqrmsa”
”strong=”8033|�/������� x-morph=”OSHM:HD/Sd” x-cantillationLevel=”0”�
� 11 ”strong=”7725|���������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.3.0”
”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqa” ”strong=”8478|������
x-morph=”OSHM:HR”���������/���|strong=”d/8121” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1.3” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”l/7031|���������/��
x-morph=”OSHM:HRd/Aampa” ”strong=”d/4793|��������/�� x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”1.1.2.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”l/1368|������������/�� x-morph=”OSHM:HRd/Aampa” ”strong=”d/4421|�����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.2” ”strong=”c/1571|���/���
x-morph=”OSHM:HC/Ta” x-cantillationLevel=”1.1.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”l/2450|���������/�� x-morph=”OSHM:HRd/Aampa”
”strong=”3899|������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1.1”
”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”l/995|����������/�� x-morph=”OSHM:HRd/VNrmpa”
x-cantillationLevel=”1.1.0” ”strong=”6239|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
x-cantillationLevel=”1.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”l/3045|����������/��
x-morph=”OSHM:HRd/Vqrmpa” x-cantillationLevel=”1.0” ”strong=”2580|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”3588|���� a”
x-morph=”OSHM:HC”�����|strong=”6256” x-morph=”OSHM:HNcbsa” ”strong=”c/6294|������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” strong=”7136|��������
a” x-morph=”OSHM:HVqi3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”3605”
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”� 12 strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.2.2.1” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”3045”
x-morph=”OSHM:HVqi3ms” ”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”6256”
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.2.2” ”strong=”k/1709|��������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.2.1” ”strong=”s/270|�������������/���
x-morph=”OSHM:HTr/VNsmpa” x-cantillationLevel=”1.2.0” strong=”b/4685|���������/���
c” x-morph=”OSHM:HR/Ncfsa” strong=”7451|������ a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.2” ”strong=”c/k/6833|�����������/���/�� x-morph=”OSHM:HC/R/Ncbpa”
x-cantillationLevel=”1.1” ”strong=”d/270|���������/�� x-morph=”OSHM:HTd/Vqsfpa”
x-cantillationLevel=”1.0” strong=”b/6341|�����/��� a” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”k/1992|����/��� x-morph=”OSHM:HR/Pp3mp”
x-cantillationLevel=”0.2.1” ”strong=”3369|������������ x-morph=”OSHM:HVPsmpa”
x-cantillationLevel=”0.2.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”d/120|������/��� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2”
”strong=”l/6256|����/�� x-morph=”OSHM:HR/Ncbsc” strong=”7451|������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.1” ”strong=”k/s/5307|���������/���/���
x-morph=”OSHM:HR/Tr/Vqi3fs” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”6597|��������� x-morph=”OSHM:HD”
x-cantillationLevel=”0”� 13 ”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”2090”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.0.0” ”strong=”7200|���������
x-morph=”OSHM:HVqp1cs” ”strong=”2451|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
strong=”c/1419|���������/�� a” x-morph=”OSHM:HC/Aafsa” ”strong=”1931|�����
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0.0” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 14 strong=”5892|�����
b” x-morph=”OSHM:HNcfsa” strong=”6996|��������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.1” ”strong=”c/376|����������/�� x-morph=”OSHM:HC/Ncmpa”
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”strong=”b|��/���� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0”
”strong=”4592|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/935|����/�� x-morph=”OSHM:HC/Vqp3ms”��/�������|strong=”413”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1.0.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsa” strong=”1419|�������� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1.0” ”strong=”c/5437|������/�� x-morph=”OSHM:HC/Vqp3ms”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”0.1”
”strong=”c/1129|������/�� x-morph=”OSHM:HC/Vqp3ms” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0” strong=”4685|����������
a” x-morph=”OSHM:HNcmpa” strong=”1419|���������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0”� 15 ”strong=”c/4672|������/�� x-morph=”OSHM:HC/Vqp3ms”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.1”
”strong=”376|������ x-morph=”OSHM:HNcmsa” ”strong=”4542|���������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.0” ”strong=”2450|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1” ”strong=”c/4422|������/��
x-morph=”OSHM:HC/Vpp3ms”������|strong=”1931” x-morph=”OSHM:HPp3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�����/���|strong=”d/5892 b”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”b/2451|��/��������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/120|������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”2142|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/4542|����������/�� x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.0” ”strong=”d/1931|������/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”0”� 41 Marks a place where we agree with BHQ against
BHS in reading L. 42 43 16 ”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqp1cs”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1”
strong=”2896|������� a” x-morph=”OSHM:HAafsa” ”strong=”2451|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”m/1369|����������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1” ”strong=”c/2451|��������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”d/4542|����������/�� x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.1.0” ”strong=”959|���������� x-morph=”OSHM:HVqsfsa”
x-cantillationLevel=”0.1” ”strong=”c/1697|�/��������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”369|�/������ x-morph=”OSHM:HTn/Sp3mp”
”strong=”8085|������������ x-morph=”OSHM:HVNsmpa” x-cantillationLevel=”0”�
17 ”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”2450|���������
x-morph=”OSHM:HAampa” x-cantillationLevel=”1.1” strong=”b/5183|������/���
a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0” ”strong=”8085|������������
x-morph=”OSHM:HVNsmpa” x-cantillationLevel=”1” ”strong=”m/2201|���������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”4910|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.0” ”strong=”b/3684|�����������/��� x-morph=”OSHM:HRd/Aampa”
x-cantillationLevel=”0”� 18 strong=”2896|������� a” x-morph=”OSHM:HAafsa”

41Q
42n Marks an anomalous form.
43p We read punctuation in L differently from BHS.
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”strong=”2451|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”m/3627|�������/�� x-morph=”OSHM:HR/Ncmpc” ”strong=”7128|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/2398|�������/��
x-morph=”OSHM:HC/Vqrmsa” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”6|��������� x-morph=”OSHM:HVpi3ms”
strong=”2896|������� c” x-morph=”OSHM:HAafsa” strong=”7235|���������
a” x-morph=”OSHM:HVha” x-cantillationLevel=”0”�10 ”strong=”2070|��������� x-morph=”OSHM:HNcmpc” ”strong=”4194|������

x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”887|����������
x-morph=”OSHM:HVhi3ms” ”strong=”5042|��������� x-morph=”OSHM:HVhi3ms”

x-cantillationLevel=”1.0” ”strong=”8081|������� x-morph=”OSHM:HNcmsc”
”strong=”7543|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1”
”strong=”3368|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0.0”
”strong=”m/2451|��������/�� x-morph=”OSHM:HR/Ncfsa” ”strong=”m/3519|��������/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.0” strong=”5531|���������
b” x-morph=”OSHM:HNcfsc” ”strong=”4592|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 2 strong=”3820|���� a” x-morph=”OSHM:HNcmsa”
”strong=”2450|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.0”
”strong=”l/3225|��/������/��� x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-
cantillationLevel=”0.1” strong=”c/3820|����/�� a” x-morph=”OSHM:HC/Ncmsa”
”strong=”3684|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”l/8040|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 3 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”��������/����|strong=”b/1870”
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.0.0” ”strong=”k/s/d/5530|���/�/�/�
x-morph=”OSHM:HR/Tr/Td/Ncmsa” x-wType=”x-ketiv” 44 45 Yathir read-
ings in L which we have designated as Qeres when both Dothan and BHS list a
Qere. ”strong=”1980|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0”
strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”2638|������
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x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”408|���
x-morph=”OSHM:HTn”���������|strong=”3240” x-morph=”OSHM:HVhj2ms”
”strong=”3027|��/����� x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”369|���/������
x-morph=”OSHM:HTn/Sp2ms” ”strong=”3045|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1.0.0” 49 We agree with both BHS 1997 and BHQ
on an unexpected reading. ”strong=”335|���� x-morph=”OSHM:HTi”
”strong=”2088|���� x-morph=”OSHM:HPdxms” ”strong=”3787|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1.0” ”strong=”i/2088|����/��
x-morph=”OSHM:HTi/Pdxms” strong=”176|��� a” x-morph=”OSHM:HC”�����|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.1” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”����/�������|strong=”8147” x-morph=”OSHM:HAcmdc/Sp3mp”
”strong=”k/259|������/��� x-morph=”OSHM:HR/Acmsa” x-cantillationLevel=”0.0”
strong=”2896|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
7 ”strong=”c/4966|�������/�� x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1.0”
”strong=”d/216|�����/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
strong=”c/2896|�����/�� a” x-morph=”OSHM:HC/Aamsa” strong=”l/5869|���������/���
a” x-morph=”OSHM:HRd/Ncbda” x-cantillationLevel=”0.0” ”strong=”l/7200|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/8121”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� 8 strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”���������|strong=”8141”
x-morph=”OSHM:HNcfpa” strong=”7235|��������� a” x-morph=”OSHM:HVha”
x-cantillationLevel=”1.0.0” ”strong=”2421|�������� x-morph=”OSHM:HVqi3ms”
”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”b/3605|�/������/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp” ”strong=”8055|���������
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”1” ”strong=”c/2142|���������/��
x-morph=”OSHM:HC/Vqj3ms” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”3117” x-morph=”OSHM:HNcmpc”
49U
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”strong=”d/2822|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”7235
a” x-morph=”OSHM:HVha” ”strong=”1961|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsa”�����/����|strong=”s/935”
x-morph=”OSHM:HTr/Vqp3ms” ”strong=”1892|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 9 ”strong=”8055|������� x-morph=”OSHM:HVqv2ms”
”strong=”970|�������� x-morph=”OSHM:HNcmsa” ”strong=”b/3208|��/�����������/���
x-morph=”OSHM:HR/Ncfpc/Sp2ms” x-cantillationLevel=”1.2.1” ”strong=”c/3190|���/�������/���
x-morph=”OSHM:HC/Vhj3ms/Sp2ms” strong=”3820|���/����� a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.2.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”979|��/����������� x-morph=”OSHM:HNcbpc/Sp2ms” x-cantillationLevel=”1.2”
”strong=”c/1980|��������/�� x-morph=”OSHM:HC/Vpv2ms” x-cantillationLevel=”1.1.0”
”strong=”b/1870|��������/��� x-morph=”OSHM:HR/Ncbpc” strong=”3820|���/�����
a” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”c/b/4758|��������/��/��
x-morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”1.0” strong=”5869|��/�������
a” x-morph=”OSHM:HNcbdc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/3045|����/��
x-morph=”OSHM:HC/Vqv2ms” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������|strong=”428” x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”0.0.0” ”strong=”935|���/�������� x-morph=”OSHM:HVhi3ms/Sp2ms”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0”
”strong=”b/4941|�����������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
10 ”strong=”c/5493|������/�� x-morph=”OSHM:HC/Vhv2ms” strong=”3708|��������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” strong=”m/3820|��/�������/��
a” x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”1.1” strong=”c/5674|��������/��
a” x-morph=”OSHM:HC/Vhv2ms” strong=”7451|������ c” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”m/1320|��/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”����������/���|strong=”d/3208”
x-morph=”OSHM:HTd/Ncfsa” ”strong=”c/d/7839|�����������/���/��
x-morph=”OSHM:HC/Td/Ncfsa” x-cantillationLevel=”0.0” ”strong=”1892|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�12 ”strong=”c/2142|������/�� x-morph=”OSHM:HC/Vqv2ms” x-

cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/������������|strong=”1254
a” x-morph=”OSHM:HVqrmpc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”b/3117|�����/���

x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”1.0” ”strong=”979|��/������������
x-morph=”OSHM:HNcbpc/Sp2ms” x-cantillationLevel=”1” ”strong=”5704|����
x-morph=”OSHM:HR” strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3808|���
x-morph=”OSHM:HTn”����������|strong=”935” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.3.0” ”strong=”3117|������ x-morph=”OSHM:HNcmpc”
strong=”d/7451|������/��� c” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.3”
”strong=”c/5060|����������/�� x-morph=”OSHM:HC/Vhq3cp” ”strong=”8141|��������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”559|�������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0.1” ”strong=”369|����� x-morph=”OSHM:HTn”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”b|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”2656|������ x-morph=”OSHM:HNcmsa”
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x-cantillationLevel=”0”� 2 ”strong=”5704|���� x-morph=”OSHM:HR” x-
cantillationLevel=”1.1.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|���� x-morph=”OSHM:HTn”�����������|strong=”2821”
x-morph=”OSHM:HVqi3fs” ”strong=”d/8121|����������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1.0” ”strong=”c/d/216|�����/��/�� x-morph=”OSHM:HC/Td/Ncbsa”
x-cantillationLevel=”1.1” ”strong=”c/d/3394|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/d/3556|�����������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/7725|�������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”d/5645|�������/�� x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.0”
strong=”310|������ a” x-morph=”OSHM:HR” ”strong=”d/1653|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 3 ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”s/2111|����������/���
x-morph=”OSHM:HTr/Vqi3mp” x-cantillationLevel=”1.1.0” ”strong=”8104|���������
x-morph=”OSHM:HVqrmpc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/5791|��������������/�� x-morph=”OSHM:HC/Vtq3cp”
x-cantillationLevel=”1.0” ”strong=”376|��������� x-morph=”OSHM:HNcmpc”
”strong=”d/2428|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/988|��������/�� x-morph=”OSHM:HC/Vqq3cp” ”strong=”d/2912|�����������/��
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”4591|�������� x-morph=”OSHM:HVpp3cp”
x-cantillationLevel=”0.1” ”strong=”c/2821|���������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”d/7200|�������/�� x-morph=”OSHM:HTd/Vqrfpa” x-cantillationLevel=”0.0”
”strong=”b/699|����������/��� x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”0”�
4 ”strong=”c/5462|���������/�� x-morph=”OSHM:HC/VPq3cp” strong=”1817|�����������
c” x-morph=”OSHM:HNcfda” x-cantillationLevel=”1.1.0” ”strong=”b/7784|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”b/8217|�������/���
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” strong=”6963|�����
a” x-morph=”OSHM:HNcmsc” ”strong=”d/2913|���������/��� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqi3ms”
x-cantillationLevel=”0.1.0” strong=”l/6963|�����/�� a” x-morph=”OSHM:HR/Ncmsc”
”strong=”d/6833|���������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”c/7817|����������/�� x-morph=”OSHM:HC/VNi3mp” x-cantillationLevel=”0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”1323”
x-morph=”OSHM:HNcfpc” strong=”d/7892|�������/�� a” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 5 ”strong=”1571|����� x-morph=”OSHM:HTa”
”strong=”m/1364|���������/�� x-morph=”OSHM:HR/Aamsa” ”strong=”3372|���������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.2.0” ”strong=”c/2849|������������/��
x-morph=”OSHM:HC/Ncmpa” ”strong=”b/1870|��������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1.2” ”strong=”c/5006|�������/�� x-morph=”OSHM:HC/Vhi3ms”
”strong=”d/8247|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”c/5445|������������/�� x-morph=”OSHM:HC/Vti3ms” ”strong=”d/2284|������/���
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”c/6565|������/��
a” x-morph=”OSHM:HC/Vhi3fs” x-cantillationLevel=”1.0” ”strong=”d/35|������������/���
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”1980” x-morph=”OSHM:HVqrmsa”
”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
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”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”5769|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/5437|��������/�� x-morph=”OSHM:HC/Vqq3cp” ”strong=”b/7784|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0” 50 Marks a place
where we agree with BHQ against BHS in reading L. 51 52 ”strong=”d/5594|����������/��
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0”� 6 ”strong=”5704|����
x-morph=”OSHM:HR” strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3808|����
x-morph=”OSHM:HTn”�����|strong=”7368” x-morph=”OSHM:HVqi3ms”
x-wType=”x-ketiv” 53 strong=”2256|������ a” x-morph=”OSHM:HNcbsc”
”strong=”d/3701|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/7533|������/�� x-morph=”OSHM:HC/Vqi3fs” x-cantillationLevel=”1.0”
”strong=”1543|�������� x-morph=”OSHM:HNcfsc” ”strong=”d/2091|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/7665|����������/��
x-morph=”OSHM:HC/VNi3fs” ”strong=”3537|����� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/4002”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”c/7533|������/��
x-morph=”OSHM:HC/VNq3ms” ”strong=”d/1534|����������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”������/���|strong=”d/953
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 7 ”strong=”c/7725|�������/��
x-morph=”OSHM:HC/Vqi3ms” ”strong=”d/6083|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0” ”strong=”k/s/1961|������/���/���
x-morph=”OSHM:HR/Tr/Vqp3ms” x-cantillationLevel=”1” ”strong=”c/d/7307|������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” ”strong=”7725|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”���������/���|strong=”d/430”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|��/������� x-morph=”OSHM:HVqp3ms/Sp3fs”
x-cantillationLevel=”0”� 8 ”strong=”1892|������ x-morph=”OSHM:HNcmsc”
”strong=”1892|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0.0”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”d/6953|����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”d/3605|�����/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”1892|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 9 ”strong=”c/3148|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”s/1961|������/��� x-morph=”OSHM:HTr/Vqp3ms”
”strong=”6953|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”2450|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.2.1” ”strong=”3925|������
x-morph=”OSHM:HVpp3ms”���������|strong=”1847” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2” ”strong=”c/239|�������/��
x-morph=”OSHM:HC/Vpp3ms” ”strong=”c/2713|�������/�� x-morph=”OSHM:HC/Vpp3ms”
50Q
51n Marks an anomalous form.
52v We read one or more vowels in L differently from BHS.
53+ ”strong=”7576|������������ x-morph=”OSHM:HVNi3ms” x-
cantillationLevel=”1.1.0”
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x-cantillationLevel=”0.1” ”strong=”8626|�������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0.0” ”strong=”4912|���������� x-morph=”OSHM:HNcmpa”
strong=”7235|��������� a” x-morph=”OSHM:HVha” x-cantillationLevel=”0”�
10 ”strong=”1245|��������� x-morph=”OSHM:HVpp3ms” ”strong=”6953|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”l/4672|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”1697|��������
x-morph=”OSHM:HNcmpc”�������|strong=”2656” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/3789|�������/�� x-morph=”OSHM:HC/Vqsmsa”
”strong=”3476|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”571|������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 11 ”strong=”1697|���������
x-morph=”OSHM:HNcmpc” ”strong=”2450|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.1.0” strong=”k/1861|�������������/��� b” x-
morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”1.1” ”strong=”c/k/4930|������������/��/���
x-morph=”OSHM:HC/R/Ncbpa” ”strong=”5193|���������� x-morph=”OSHM:HVqsmpa”
x-cantillationLevel=”1.0” ”strong=”1167|��������� x-morph=”OSHM:HNcmpc”
”strong=”627|���������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1”
”strong=”5414|��������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.0”
strong=”m/7462|������/�� b” x-morph=”OSHM:HR/Vqrmsa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0”� 12 ”strong=”c/3148|������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”m/1992|�������/�� x-morph=”OSHM:HR/Pdxmp”
x-cantillationLevel=”1.0” strong=”1121|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
strong=”2094|��������� b” x-morph=”OSHM:HVNv2ms” x-cantillationLevel=”1”
strong=”6213|�������� a” x-morph=”OSHM:HVqc” strong=”5612|���������
a” x-morph=”OSHM:HNcmpa” strong=”7235|��������� a” x-morph=”OSHM:HVha”
x-cantillationLevel=”0.1.0” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”7093|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”c/3854|������/��
x-morph=”OSHM:HC/Ncmsa” strong=”7235|��������� a” x-morph=”OSHM:HVha”
x-cantillationLevel=”0.0” ”strong=”3024|�������� x-morph=”OSHM:HNcfsc”
”strong=”1320|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
13 ”strong=”5490|����� x-morph=”OSHM:HNcmsc” ”strong=”1697|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”d/3605|�����/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”8085|��������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”1” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/430”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”3372|������ x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0.1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/�����������|strong=”4687”
x-morph=”OSHM:HNcfpc/Sp3ms” ”strong=”8104|�������� x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0.1” strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/120” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 14 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�����������|strong=”4639”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0” ”strong=”935|������
x-morph=”OSHM:HVhi3ms” ”strong=”b/4941|����������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” strong=”5921|���� a” x-morph=”OSHM:HR” ”strong=”3605|����
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x-morph=”OSHM:HNcmsc”���������|strong=”5956” x-morph=”OSHM:HVNrmsa”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”������|strong=”2896
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”�����|strong=”7451 a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”�


